lpennaraem BalueMy BHUMaHMIO
MOMeLLieHMe 0T COBCTBEHHMKA

XK 2119,
23 KOPIMYC

2-U TPAUBOPOHOBCKUN
NMPOE3A, O.44,
KOPI. 3
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C PEMOHTOM 20
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NMPEANOJIATAEMbBIE APEHOATOPDI

Xne6/ koHOuTepcKas,/ nekapHs
MonoYyHaa NpoayKLms
MsacHasa npoayKumsa
Konb6achl
NKpa
LennkaTechbl
Tabak
— LiBeThbl

Kode c cobon

KynuHapus

ChbipHas naBka

AnTeka
== OKHa OnTtunka

oM 6biTa/pPeMOHT YacoB/3aMeHa baTapeek

mm PonbcTBaHU DOTO Ha JOKYMEeHTbI/rneyaTb
KocmeTunka
Mopapkun/Bo3AyLUHbIE LLapPbl/yNakoBKa
BblToBag xmMus

NMOMELLUEHNA
il OoT 6 0o 45 M2

.I 27 M2 120 000 py6/mMec 6 M2: 100 000 py6/mMec
PECTOPRR 21 M2 100 000 py6/mec 45 M2 Bannp6epus
N | 24 M2 100 000 py6/mec 10 M2 90 000 py6/Mec
| II{ . I 20 M2100 000 py6/Mec 10,5 M2 90 000 py6/Mec
T T o il | st 22 M2: 100 000 py6/mec 11 M2: 90 000 py6/Mec
— 20 M2 165 000 py6/mec 10 M2 XMMUUCTKa

9 M2 90 000 py6/Mec 9 M2: 145 000 py6/mMec
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